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 
 
 

General Instruction- 1.  There are a total 60 questions in this paper out of which 50 questions are to be 
attempted.  

2.  This paper is divided into three Sections:   Section A - Contains 24 questions. Attempt any 20 questions.   Section B - Contains 24 questions. Attempt any 20 questions.   Section C - Contains 12 questions. Attempt any 10 questions.  
3.  All questions carry equal marks.  
4.  There is no negative marking  

************** 

 
Section-A 

 (20 questions out of 24 questions are to be attempted) 

(a) (b)  
 (c)  (d) 
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 The budgetary policy of the government is also known as _______ 
 (Fill up the blank with correct alternative)  
 (a)  Income and expenditure policy  (b)  Fiscal policy  
 (c)  Money policy.  (d)  Financial policy  

 (a)   (b)  IMF  
 (c)   (d)  बु  
 Current account of the BOP includes _________ only. 
 (Fill up the blank with correct alternative)  
 (a)  Foreign direct investment  (b)  Borrowings from the IMF  
 (c)  Outsourced services to India  (d)  Investment by Facebook in Jio  

 (a)   (b)   
 (c)   (d)   
 Identify which of the following creates bank money? 
 (Choose the correct alternative)  
 (a)  NABARD (b)  Reserve Bank of India 
 (c)  Central Bank of India  (d)  LIC  

 (a)   (b)   
 (c)   (d)   
 The imports of the Apple I phones will be recorded in ______ on ______ 
 (Choose the correct alternative)  
 (a)  Capital account, credit side  (b)  Current account, debit side  
 (c)  Capital account, debit side  (d)  Current account, credit side  
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 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

from the following:  
 Statement 1 : Indian economy is a favorite destination for the foreign direct 

investments. 
 Statement 2 : India has improved its ranking in the ease of doing business. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false.  
 (d)  Statement 2 is true and Statement 1 is false.  

 (a)   (b)   
 (c)   (d)  (a) (b)  
 The essential condition/conditions for a financial institution to become a bank are;  
 (Choose the correct alternative) 
 (a)  accepting deposits  (b)  lending  
 (c)  printing currency notes.  (d)  both (a) and (b)  

 (a)  (b)   
 (c)   (d)  
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 Mr. Abhishek says "under this market the foreign currencies ore being traded and 
it is not limited to a specific area" 

 The above mentioned statement was given by Mr. Abhishek, identify which 
market is being referred in this statement? 

 (Choose the correct alternatives) 
 (a)  Foreign exchange market  (b)  Foreign money market  
 (c)  International currency market  (d)  International money market  

 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

from the following:  
 Statement 1 : Budget is the detailed financial statement of the estimated receipts 

and estimated expenditures for the corning financial year.  
 Statement 2 : Budget estimates are based on the last years financial performance 

of the government. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false.  
 (d)  Statement 2 is true and Statement 1 is false.  

×य

 i.  ii. 
iii.  iv.  



XI-ECONOMICS 5

 (a)  i  iii (b)  ii  iv 
 (c)  ii  iii (d)  i  iv
 Inflow of the foreign direct investment is recorded in _____ and on _____ side.  
 (Fill up the blank with correct alternative)  
 i.  Current account ii.  Capital account 
 iii.  Debit iv.  Credit 
 Identify the correct alternatives from the following:  
 Alternatives:  
 (a)  i and iii (b) ii and iv 
 (c)  ii and iii  (d)  i and iv 

 (a)  
(b)   

 (c)  
 (d)  
 Identify which of the following is not true about the Reserve Bank of India?  
 (Choose the correct alternative)  
 (a)  It accepts deposits of the government.  
 (b)  Its gives loans to government  
 (c)  It creates bank money  
 (d)  It does not issue all the currency notes  

 

 (a)  1950 (b)  1952 
 (c)  1969 (d)  1991
 National development council was set up in the year ________. 
 (Fill up the blank with correct alternative)  
 (a)  1950 (b)  1952 
 (c)  1969 (d)  1991
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 (a)  
 (b)   
 (c)  
 (d)  
 Which of the following statement is not true about the characteristic of the Indian 

economy on the eve of independence 
 (Choose with correct alternative)  
 (a)  Size of the market was limited  
 (b)  Agriculture was stagnant  
 (c)  Agriculture was the main source of livelihood  
 (d)  "Commanding heights" industries were present  

 (a)   (b)   
 (c)   (d)  
 Find which of the following is not an alternate channel of agricultural marketing.  
 (Choose the correct alternative)  
 (a)  Apni Mandi (b) Rythu Bazar 
 (c) Hadaspur Mandi (d) Mother Dairy 

 (a)  
 (b)   
 (c)  
 (d)   
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 Read the following statements carefully and choose the correct alternative 
from the following:  

 Statement 1 : Poverty line differentiates poor and non poor.  
 Statement 2 : It also differentiates poor and the poorest. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false. 
 (d)  Statement 2 is true and Statement 1 is false. 

(A) (R)
(A)

(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : Repo Rate is increased to control the money supply. 
 Reason (R) : “Rationing of credit” involves specifying the amount and purpose 

for which credit is to be given. 
 From the given alterantives choose the correct one : 
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 
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हँू
 (a)   (b)   
 (c)   (d)  
 Before Green Revolution India used to Import wheat from _________. 
 (Fill in the blank with corect alternative) 
 (a)  Britain (b) America 
 (c) Japan (d) Russia 

I II
 I  II 

A  i 
 

B  ii 
 

C iii 

D iv 
 

 (a)  A-i (b) B-ii 
 (c)  C-iii (d)  D-iv 
 From the following given sets of statements in column I and II, choose the correct 

pair of statements.  
 Column I  Column II 

A Current account balance i Excess of Exports of goods over 
the Imports of goods 

B Balance of payments ii Outflow of foreign currency – 
inflow of foreign currency 

C Net import of invisibles iii Export of goods – import of goods 
D Foreign loans and investments iv Capital account 
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 Alternatives: 
 (a)  A-i (b) B-ii 
 (c)  C-iii (d)  D-iv 

 (a)   (b)   
 (c)   (d)  
 Mother dairy and Amul are examples of ________. 
 (Choose the correct alternative) 
 (a)  Cooperative marketing 
 (b)  Self help groups 
 (c)  Micro marketing 
 (d)  Alternative channels of rural credit 

 (a)   (b)   
 (c)   (d)  
 The expenditure on preventive medicine like awareness campaign against dengue, 

malaria is an example of _______________________________________ . 
 (Fill in the blank with correct alternative)  
 (a)  Revenue nature income  (b)  Capital nature income 
 (c)  Revenue nature expenditure  (d)  Capital nature expenditure 

 (a)   (b)   
 (c)   (d)  
 Which of the following is not associated with the poverty measurement.  
 (Choose correct alternative)  
 (a)  Poverty line  
 (b)  MPCE, monthly per capita consumption expenditure  
 (c)  Sen index  
 (d)  Population growth rate  
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 (a)  CRR  (b)   
 (c)   (d)  
 In which of the following case the credit creation will be unlimited 
 (Choose correct alternative)  
 (a)  CRR is 70% (b)  primary deposits are zero  
 (c)  secondary deposits are zero  (d)  none of these  

`

 (a)  ` 700  (b)  ` 1200  
 (c)  ` 900  (d)  ` 200 
 The balance of trade shows a deficit of 500 crore. The value of export is Rs. 700 

crore. Find the value of imports. 
 (Choose the correct alternative)  
 (a)  ` 700 crore (b)  ` 1200 crore 
 (c)  ` 900 crore (d)  ` 200 crore

 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

given below:  
 Statement 1 : Green revolution had widened the gap between the rich and poor 

farmers.  
 Statement 2 : Most of the benefits of the green revolution were enjoyed by the 

poor states. 
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 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false.  
 (d)  Statement 2 is true and Statement 1 is false.  

 (a)   (b)   
 (c)   (d)  
 India at the time of independence was _________ of agricultural goods 
 (Fill up the blank with correct alternative)  
 (a)  Net importer  (b)  Net exporter  
 (c)  Raw importer  (d)  Gross importer 

 
Section-B 

 (20 questions out of 24 questions are to be attempted) 
(A) (R)

(A)

(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : Fixed exchange rate is not volatile but floating exchange rate is 

volatile. 
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 Reason (R) : Under fixed exchange rate system, demand and supply of foreign 
currency do not affect the exchange rate. 

 From the given alternatives choose the correct one:  
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

 (a)   (b)   
 (c)   (d)  
 Suppose in an economy, the initial deposits are 5000 cr and the reserve ratio is 

10% the total bank money created in the economy will be ________ 
 (Fill up the blank with correct alternative)  
 (a)  50000 cr  (b)  15000 cr  
 (c)  500 cr  (d)  25000 cr  

(A) (R)
(A)
(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : Total area under cultivation had been decreased during the pre 

reforms period (1950-1990). 
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 Reason (R) : Due to use of package policy, the barren land was converted to 
irrigable land. 

 From the given alternatives choose the correct one:  
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

 (a)  
 (b)   
 (c)  यं
 (d)  
 Identify the incorrect statement from the following: 
 (Choose the correct alternative)  
 (a)  Operation flood is associated with milk production.  
 (b)  Diversification of agriculture is playing an important role in rural 

development.  
 (c)  Self help groups ore under non institutional rural credit.  
 (d)  Micro credit system has reduced the gap between the banks and rural 

borrowers. 
(A) (R)

(A)
(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
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 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : Human capital formation is a static concept.  
 Reason (R) : For human capital formation continuous efforts and expenditures are 

needed. 
 From the given alternatives choose the correct one:  
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

I II
 I  II 

A  i  
B  ii  
C iii 
D iv 

 

 (a)  A-i (b) B-ii 
 (c)  C-iii (d)  D-iv 
 From the set of statements given in Column I and Column II, choose the correct 

pair of statements:  
 Column I  Column II 

A Twenty points program i 1982 
B MNREGA ii 150 days of skilled work 
C Jan Dhan Yojna iii 2014 
D Poverty Data iv Reserve Bank of India 

 Alternatives: 
 (a)  A-i (b) B-ii 
 (c)  C-iii (d)  D-iv 
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 (a)  NSSO
 (b)   
 (c)  
 (d)  
 Identify which of the following statements given below, is not true, regarding the 

poverty?  
 (Choose the correct alternative) 
 (a)  Poverty data is collected by the NSSO  
 (b)  Poverty data is published by planning commission 
 (c)  Poverty is identified on the basis of poverty line  
 (d)  For rural areas the calorie consumption is 2100  

 (a)   (b)   
 (c)  (d)  
 During the economic reforms period, the growth of the service sector is more than 

the_______. 
 (Fill up the blank with correct alternative)  
 (a)  primary sector  (b)  manufacturing sector  
 (c)  agriculture sector  (d)  all of these  

(A) (R)
(A)
(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
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 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : During the British rule agriculture production and productivity 

was very low.  
 Reason (R) : British govenment had made investments in the terrace farming and 

irrigation facilities. 
 From the given alternatives choose the correct one:  
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

from the following:  
 Statement 1 : With the starting of green revolution the credit needs of the rural 

economy had diversified.  
 Statement 2 : Credit is needed not only for consumption but for buying the input 

packages. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false.  
 (d)  Statement 2 is true and Statement 1 is false.  



XI-ECONOMICS 17

 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

from the following:  
 Statement 1 : Credit creation is the process of creating bank money.  
 Statement 2 : Bank money is created by creating secondary deposits. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false. 
 (d)  Statement 2 is true and Statement 1 is false. 

 (a)  
 (b)  
 (c)  
 (d)  
 Which of the following is not correct 
 (Choose the correct option)  

(a)  At the time of independence the occupational structure was biased towards 
agriculture  

 (b)  Life expectancy was 69 years at the time of independence  
 (c)  Railway was introduced in 1850 
 (d)  Suez Canal was opened in 1869 
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(A) (R)
(A)

(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : When goods and services are imported from rest of the world, 

they are recorded in the capital account of balance of payment. 
 Reason (R) : These imports reduces the demand for the domestic goods and 

service. 
 From the given alternatives choose the correct one:  
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

 i.   ii.   
 iii.   iv.  

 
 (a)  i  ii (b) ii  iii 
 (c)  i  iii (d)  i  iv 
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 __________ and __________ are not issued by the RBI. 
 (Fill up the blank with correct alternative) 
 i.  One rupee note ii.  Coins 
 iii.  Two rupee note iv.  Money 
 Alternatives:  
 (a)  i and ii (b) ii and iii 
 (c)  i and iii (d)  i and iv 

(A) (R)
(A)
(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : Farmers were not able to get a fair price for their crops.  
 Reason (R) : There was lack of proper marketing facilities. 
 From the give alternatives choose the correct one. 
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

(A) (R)
(A)

(R) 
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 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R), choose one of the 

correct alternatives given below: 
 Assertion (A) : An efficient and effective rural credit delivery system is crucial 

for raising agricultural productivity and incomes.  
 Reason (R) : The agriculture inputs have to be bought from the market for 

adopting modern day methods of production. 
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

(A) (R)
(A)
(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : Demand Deposits are not a part of money supply. 
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 Reason (R) : The amount available in the demand deposit can be used for 
purchasing goods and services. 

 From the given alternatives choose the correct one. 
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

from the following:  
 Statement 1 : The number of people living below poverty line are known as poor.  
 Statement 2 : Lack of employment opportunities is a cause of poverty. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false. 
 (d)  Statement 2 is true and Statement 1 is false. 

 (a)  
 (b)   
 (c)  
 (d)  
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 Which of the following in not associated with the human capital formation:  
 (Choose the correct alternative)  
 (a)  Human capital formation increases the productivity of physical capital  
 (b)  Education is an important Factor in human capital formation  
 (c)  Human capital formation is some as human development  
 (d)  Information will lead to better utilization of human resources  

 (a)   (b)   
 (c)  (a) (b) (d)  
 If there is deficit in the current account of balance of payment the balance of trade 

will also be______. 
 (Fill up the blank with correct alternative)  
 (a)  In surplus  (b)  In deficit  
 (c)  (a) or (b) (d)  None of these  

 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

from the following:  
 Statement 1 : Government of India has started many employment generation 

schemes for alleviation of poverty.  
 Statement 2 : Job less growth had not resulted in a significant decline in poverty 

situation. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false. 
 (d)  Statement 2 is true and Statement 1 is false. 
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(A) (R)
(A)

(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : Balance of Payment is a systematic record of all the economic 

transactions which are made by Government and Residents of country with 
residents of other countries within a year.  

 Reason (R) : Balance of payments only records the inflow and outflow of the 
foreign currency. 

 From the given alternatives choose the correct one:  
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

 (a)  
 (b)   
 (c)  

(d)  
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 Identify the correct statement from the following: 
 (Choose the correct alternative)  
 (a)  Indian economy was a vibrant economy at the time of independence.  
 (b) 85% population was engaged in agriculture.  
 (c)  There was a lock of the basic and heavy industries in the country at the time 

of independence.  
 (d)  Coastal canal water way project was a success as it was a preferred mode of 

transportation during the British rule. 
I II

 I  II 
A  i  
B  ii  
C iii 
D iv 

 (a)  A-ii; B-i; C-iv; D-iii (b) A-iii; B-iv; C-i; D-ii 
 (c)  A-i; B-ii; C-iii; D-iv (d)  A-ii; B-iv, C-i; D-iii 
 Match the items given in Column I and items in Column II:  
 (Choose the correct alternative) 

 Column I  Column II 
A Kothari Commission i For elementary education 
B MID day meal scheme ii 6% of GDP expenditure on eduation 
C Migration iii Ownership can be transferred 
D Physical capital iv Brain drain 

 Options : 
 (a)  A-ii; B-i; C-iv; D-iii (b) A-iii; B-iv; C-i; D-ii 
 (c)  A-i; B-ii; C-iii; D-iv (d)  A-ii; B-iv, C-i; D-iii 

 
Section-C 

 (10 questions out of 12 questions are to be attempted) 
Question 49-54 are to be answered on the basis of the following data: 
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Read the following hypothetical text and answer the given questions:-  
  Budgetary expenditure is an important tool to stabilize the economic 

fluctuations like inflation and deflation. In case of inflation the government 
expenditure is to be cut down as it will bring a fall in the disposable income of the 
consumers. The government creates additional demand in the economy by the way 
of higher spending.  

  By offering old-age pensions, as well as by providing free food, education, 
and health services to the Below Poverty Line Population the long term objective 
of economic planning of social justice is met.  

  Thus Public expenditure plays a significant role in restoring economic 
stability, Production linked incentives have been a major tool to attract the foreign 
production unit to produce under the make in India program , such program 
promote inducement to investment. Briefly, public expenditure is indispensable in 
any welfare state like India. It not only promotes GDP growth, but also promotes 
social welfare and well being of its citizens. All the expenditures done by the 
government are categorized as either capital expenditures or revenue expenditures.  
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 (a)   (b)   
 (c)   (d)  
 Which of the following is not a function of the government budget?  
 (Choose the correct alternative)  
 (a)  Economic growth  (b)  Creating a surplus BOP  
 (c)  Economic stability  (d)  Redistribution of income  

 (a)   (b)   
 (c)   (d)  
 The revenue receipts of the government are _______ and _______ 
 (Fill up the blank with correct alternative)  
 (a)  tax and loans  (b)  loans and borrowings  
 (c)  tax and non tax  (d)  loan and non tax 

 (a)   (b)   
 (c)   (d)  
 Identify which of the following is a revenue expenditure  
 (Choose the correct alternative)  
 (a)  Payment of interest  
 (b)  Loan and grant to state governments 
 (c)  Construction of expressways  
 (d)  Repayment of loans  

 (a)   (b)   
 (c)   (d)  
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 Fill up the blank, Fiscal deficit = Total expenditure – Total Receipt, _______ 
 (Choose the correct alternative)  
 (a)  Other than borrowings (b)  Tax 
 (c)  With borrowings (d) Non Tax Receipts 

 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

from the following:  
 Statement 1 : Capital expenditure by the government does not create assets for 

the government.  
 Statement 2 : Grants may creates assets but still these are a part of capital 

expenditure. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false. 
 (d)  Statement 2 is true and Statement 1 is false. 

 (a)   (b)   
 (c)   (d)  
 _______ is not associated with the government budget. 
 (Fill up the blank with correct alternative)  
 (a)  trade surplus (b)  primary deficit 
 (c)  tax revenue (d)  capital receipts 



XI-ECONOMICS 28

[I.B.R.D.]
[I.M.F.]

Q. 55-60 are to be answered on the basis of the following text: 
  The year 1991 saw a financial crisis on the government that forced and 

motivated government for economic reforms that were pending for quite some 
time, The crisis was due to several factors like the gulf war that pushed up oil 
prices, high rate of inflation, heavy losses of the public sector undertakings and 
lower remittances from gulf, foreign reserves at all time low ad it was the result of 
ignoring the policy of export promotion.  

  This forced the government to launch a new set of economic policy 
measures that was needed to solve this situation under the leadership of PV 
Narsimha Rao. The government approached the International Bank of 
Reconstruction and development [I.B.R.D.] known as World Bank and the 
International Monetary Fund (I.M.F.] to give a loan so that the present crisis can 
be faced. The financial assistance came with a condition to open up the economy 
and remove restrictions on the private sector and foreign capital. This set of 
measures was announced in 1991 as the New Economic Policy. 
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  The policy had measures which came under two heads: Stabilization 
measures and Structural reform measures that improve efficiency of economy and 
increase international competitiveness by removing rigidity in various economic 
segments. The policy focused on liberalization, privatization and its outcome was 
globalization. The policy of the disinvestment was adopted as a measure to reduce 
the losses of the public sector.  

 (a)  1991 (b)  1988 
 (c)  1996 (d)  2001
 In which year the new economic policy was adopted by India. 
 (Choose the correct alternative) 
 (a)  1991 (b)  1988 
 (c)  1996 (d)  2001

 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

from the following:  
 Statement 1 : The financial crisis was the end result of restrictive policies of the 

government.  
 Statement 2 : The government adopted structural reforms measures for the short 

term solution of the financial crisis. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false. 
 (d)  Statement 2 is true and Statement 1 is false. 
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(A) (R)
(A)
(R) 

 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : India adopted the new economic policy or adopted economic 

reforms under pressure. 
 Reason (R) : The financial assistance to face the financial crisis came with a 

condition to open up the economy. 
 From the given alternatives choose the correct one:  
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 

 (a)   
 (b)   
 (c)  

 (d)  
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 In the light of the given text and common knowledge, identify the incorrect 
statement: -  

 (a) In 1991 the Indian economy faced a financial crisis.  
 (b)  India borrowed from the world bank to face the crisis.  
 (c)  After economic reforms import substitution was replaced by export 

promotion.  
 (d)  Indian economy received heavy transfer receipts from the gulf countries 

during the crisis period.  

 (a)  
 (b)   
 (c)  
 (d)   
 Read the following statements carefully and choose the correct alternative 

from the following:  
 Statement 1 : In the pre reform period, the Indian industry was competitive and 

much efficient.  
 Statement 2 : To reduce the losses of public sector undertakings, disinvestment 

was adopted. 
 Alternatives:  
 (a)  Both the statements are true.  
 (b)  Both the statements are false.  
 (c)  Statement 1 is true and Statement 2 is false. 
 (d)  Statement 2 is true and Statement 1 is false. 

(A) (R)
(A)

(R) 
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 (a)  (A) (R) (R) (A)

 (b)  (A) (R) (R) (A)
 

 (c)  (A) (R)
 (d)  (A) (R)
 Read the following statements – Assertion (A) and Reason (R):  
 Assertion (A) : Before the economic reforms the public sector was having 

monopoly even in consumer goods like bread and telephone services.  
 Reason (R) : Private sector was regulated with the policy of licensing. 
 From the given alternatives choose the correct one:  
 Alternatives:  
 (a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A).  
 (b)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A).  
 (c)  Assertion (A) is true but Reason (R) is false.  
 (d)  Assertion (A) is false but Reason (R) is true. 


